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Hello tkinter
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from tkinter import * # tkinter 252 L&

root = Tk() #ZEE ATRE MY
root.geometry("500x200") # Width x Height

label = Label(root, text="Hello tkinter") # cll0I2 |5 S M4
label.pack() #dl0l= M= AZ<0 X
root.mainloop() # 2RI AMEN SES U




4
L

from tkinter import *
Ol Ct.

tkinter 2= Z &A= A

root = Tk()
Tk()= =0t Tk S A2 B0 L EHA AU otLEe| & =IOt M- =L
root.geometry("500x200")
SE ATR2 II|IE 500%x2002 Z etCt. &®H?l= S A 0| L.
label = Label(root, text="Hello tkinter")
40|12 QR MASHCL
label.pack()
pack()2 2= Xl 22| AHE 0|EotHA d0l== ZHI 0l 0l ?IXIAIZICEH
root.mainloop()
mainloop()= OIHE M2l FEZ AN, MEXNZERH L= IRAU IIEE OIHIES
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from tkinter import *
root = Tk()

label1 = Label(root, text="QtJ oA K7?", bg="yellow", fg="blue",
width=80, height=2 )
label2 = Label(root, text="U}0O|HM = =& LILCL" font="= N X", 32))

label1.pack()
label2.pack()
root.mainloop()
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from tkinter import *
root = Tk()

def process():
Iabel["text"] = "tH % Ol % é! % ]

button = Button(root, text="2 & 5t M| !", command=process)
button.pack()

label = Label(root, text="HHE =&} 2t&")
label.pack()
root.mainloop()
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from tkinter import *
root = Tk()

def process():
Iabel[“text"] = entry get()+"j olad g

entry = Entry(root, fg="black", bg="yellow", width=20)
entry.pack()

button = Button(root, text="2 & = 2=/ 6t NI K!", command=process)
button.pack()

label = Label(root, text="0}2 XA & & & ot
label.pack()

root.mainloop()
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from tkinter import *
root = Tk()

def process():
if var1.get() == 1:
label["text"] = "Xl 3 Sf A #1 & ER”
else:
label["text"] = "Xl 2 A #1 & &8 ol A"

var1 = IntVar()
Checkbutton(root, text="24 4 1", variable=var1, command=process).pack()

label = Label(root, text="& & Ot&")
label.pack()
root.mainloop()
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from tkinter import *
root = Tk()

def process():
if var1.get() == 1: | GS9R | | BHA S
label["text"] = "&i tH H & ER"
elif var1.get() == 2:
label["text"] = "L| X & ER"
else:
label["text"] = "2Z & & ER"

var1 = IntVar()

Radiobutton(root, text="g4 t{ 4", variable=var1, value=1, command=process).pack()
Radiobutton(root, text="1| X}", variable=var1, value=2, command=process).pack()
Radiobutton(root, text="2& &/", variable=var1, value=3, command=process).pack()

label = Label(root, text="«1&4 OtE")
label.pack()
root.mainloop()
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label = Label(root, text="Times Font = E 2} @2 M= ALZ & LICE",
fg = "red", font = "Times 32 bold italic")

label["text"] = "This is a label."
label["fg"] = "blue"
label["bg"] = "#FFOO0AA"

label.config(text = "World") #dlol=2 EAED Worldg H &
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from Tkinter import *

root = Tk()

Label(root, text="=t A #1" bg="red", fg="white").pack()
Label(root, text="=f A #2" bg="green", fg="black").pack()
Label(root, text="=t A #3", bg="blue", fg="white").pack()

root.mainloop()
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from Tkinter import *
root = Tk()

Button(root, text="2t A #1" bg="red", fg="white").pack(side=LEFT)
Button(root, text="2 A #2" bg="green", fg="black").pack(side=LEFT)
Button(root, text="2 A #3", bg="orange", fg="white").pack(side=LEFT)

root.mainloop()
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from tkinter import *
root = Tk()

b1 = Button(root, text="8tA #1", bg="red", fg="white")
b2 = Button(root, text="=f A #2", bg="green", fg="white")
b3 = Button(root, text="8} A #3", bg="orange", fg="white")
b4 = Button(root, text="2f A #4" bg="pink", fg="white")

b1.grid(row=0, column=0)
b2.grid(row=0, column=1)
b3.grid(row=1, column=0)
b4.grid(row=1, column=1)

root.mainloop()
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from tkinter import *
root = Tk()

b1 = Button(root, text="8/ A #1", bg="red", fg="white")
b1.place(x=0, y=0)

b2 = Button(root, text="8} A #2" bg="green", fg="black")
b2.place(x=20, y=30)

b3 = Button(root, text="2f A #3", bg="orange", fg="white")
b3.place(x=40, y=60)

root.mainloop()
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from tkinter import *

root = Tk()
f = Frame(root)

b1 = Button(f, text="2 A #1", bg="red", fg="white")
b2 = Button(f, text="8f A #2", bg="green", fg="black")
b3 = Button(f, text="f A #3", bg="orange", fg="white")
b1.pack(side=LEFT)

b2.pack(side=LEFT)

b3.pack(side=LEFT)

| = Label(root, text="0| &l0[E 2 H

rm

= 70l 8H XI = CF.")

l.pack()
f.pack()

root.mainloop()
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from tkinter import *

root = Tk()

counter =0

def clicked():
global counter
counter += 1
label['text'] = 'HHE =& & ==: ' + str(counter)

label = Label(root, text="0t& = XX £3"
label.pack()

button = Button(root, text=" Jt", command=clicked)
button.pack()

root.mainloop()
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from tkinter import *

#O|BIE X2 &2 H2
def process():
tf = float(e1.get()) #elllM SXtE =
tc = (t-32.0)*5.0/9.0 # 3N =
e2.delete(0, END)
e2.insert(0, str(tc)) #ic =0 gt

o

Ct.

root = Tk()

Label(root , text="3t M|").grid(row=0, column=0)
Label(root, text="& M|").grid(row=1, column=0)

e1 = Entry(root)
e2 = Entry(root)
e1.grid(row=0, column=1)
e2.grid(row=1, column=1)

Button(root, text="2t M|->& M", command=process).grid(row=2, column=1)

root.mainloop()
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from tkinter import *
import random

answer = random.randint(1,100) # &&= 10l A 100 AtO| 2| =2 & & BHLY,

def guessing():
guess = int(guessField.get()) # &1 AE ZEUAM A XDF 26t 32
# Jtd =L,
if guess > answer:
mS — |I|_—E:%!"
elif guess < answer:
msg = "= S!"

else:
msg — Ilg %I.!"

resultLabel["text"] = msg # Ul A| XIE =& &t(H.
guessField.delete(0, 5)




Sol:

def reset(): # & = CtAl & & &L
global answer
answer = random.randint(1,100)
resultLabel["text"] = "CHAl &2 GHAIR!"

root = Tk()
root.configure(bg="white")

roottitle("T XIS LFEAHR!")

root.geometry("500x80")

titteLabel = Label(root, text="== A} H LN & A
bg="white")

titleLabel.pack()
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guessField = Entry(root)

guessField.pack(side="left")

tryButton = Button(root, text="Al =", fg="green", bg="white",
command=guessing )

tryButton.pack(side="left")

resetButton = Button(root, text="=J| 3", fg="red", bg="white",
command=reset)

resetButton.pack(side="left")

resultLabel = Label(root, text="12 & 100At0|2] == XIE L &EGtAIL.",
bg="white")

resultLabel.pack(side="left")

root.mainloop()
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from tkinter import *

root = Tk()

root.title("My Calculator")

display = Entry(root, width=33, bg="yellow")
display.grid(row=0, column=0, columnspan=>5)

button_list = [

"7V’ V8', V9', '/', 'CV’
'4V’ V5" V6" '*', 1 "
'1" '2|, '3|, '_', ! "

'O" '." ':" '+" (I ] ]

def click(key):
if key =="=":
result = eval(display.get())
s = str(result)
display.insert(END, "=" + g)
else:
display.insert(END, key)
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row_index =1

col index =0

for button_text in button_list:
Button(root, text=button_text, width=>5,

column=col_index)
col_index +=1
if col_index > 4:
row_index +=1
col 1index =0
root.mainloop()

command=lambda t=button_text: click(t)).grid(row=row_index,




from tkinter import *

root = Tk()
w = Canvas(root, width=300, height=200)
w.pack()

w.create_rectangle(50, 25, 200, 100, fill="blue")
root.mainloop()

(0, 0)

(50, 25)

(200, 100)

. <]
(300, 200)
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canvas.create_line(15, 25, 200, 25)

EME O8lE HlAS

canvas.create_rectangle(50, 25, 158, 75,
fill="blue")

ARZIEE J2l= glas

canvas.create_arc(10, 10, 100, 158,
extent=90)

ARZEofl LiESt #o] ax|n ¥
S0M 0=t 2 FICY,
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canvas.create_oval(15, 25, 100, 125)

EFRIS XIFE Al olol 2
X},

canvas.create_polygon(10, 10, 158, 116,
250, 28, fill="yellow")

(10, 10)0ll M SHiaheA (150,
110)e2 7} FEXo= (250,
20/0M S=EICL,

canvas.create_text(100, 20, text="5Sing
Street', fill='blue', font=('Courier’,
20))

ElAES| Z9f QX2 LIEHAE (x,
y) ZEH, MNE HAlsh= o7

= fil, ZEE LiElE of7) B

font

Sing Street
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create_image() &S AFESI ZHHAO| 2| =ICH SHX| Cl E2|0f
QUE starship.png O|0|X| LS HO{M A0 EA|SHE Of|F|& CHS Tt
ZtC}

= .

from tkinter import *
root = Tk()

canvas = Canvas(root, width=500, height=30 (%% =

canvas.pack() ’

img = Photolmage(file="D:\\starship.png")
canvas.create_image(20, 20, anchor=NW, ima

root.mainloop() , \\
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from tkinter import *
root = Tk()

w = Canvas(root, width=300, height=200)
w.pack()

| = w.create_rectangle(50, 25, 200, 100, fill="red")

w.coords(i, 0, 0, 100, 100) # &M £ E HZ St
w.itemconfig(i, fill="blue") # M & = 2 & &tL}.

root.mainloop()
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from tkinter import *

WIDTH = 600

HEIGHT = 200

def displayRect():
canvas.create_rectangle(10,10,WIDTH-10,HEIGHT-10)

def displayOval():
canvas.create_oval(10,10,WIDTH-10,HEIGHT-10, fill="yellow")

def displayArc():
canvas.create_arc(10,10,WIDTH-10,HEIGHT-10,start=0,
extent=120,width=10,fill="blue")
def displayPolygon():
canvas.create_polygon(10,10,WIDTH-10,HEIGHT-10,200,90,300, 160)

def displayLine():
canvas.create_line(10,10,WIDTH-10,HEIGHT-10,fill="green")

def clearCanvas():
canvas.delete(ALL)
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root=Tk()

canvas=Canvas(root, width=WIDTH, height=HEIGHT, bg='white’)
canvas.pack()

frame=Frame(root)

frame.pack()

btRectangle=Button(frame, text="Rectangle",
command=displayRect).grid(row=1,column=2)
btOval=Button(frame,text="Oval",command=displayOval).grid(row=1,column=3)
btArc=Button(frame, text="Arc",command=displayArc).grid(row=1,column=5)
btPolygon=Button(frame,
text="Polygon",command=displayPolygon).grid(row=1,column=4)
btLine=Button(frame, text="Line",command=displayLine).grid(row=1,column=1)
btClear=Button(frame,text="Clear",command=clearCanvas).grid(row=1,column=7)

root.mainloop()
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from tkinter import *

root = Tk()
root.geometry("600x200")

def callback(event):

print(event.x, event.y, "0l Al Ot

root.bind("<Button-1>", callback)
root.mainloop()
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from tkinter import *
import random

def drawRect(e):
canvas.create_rectangle(e.x, e.y, e.x+random.randint(10, 100),
e.y+random.randint(5, 100), width=3,
outline="blue")

def drawCircle(e):
canvas.create _oval(e.x, e.y, e.xtrandom.randint(10, 100),
e.y+random.randint(5, 100), width=3,
outline="red")

root = Tk()
canvas=Canvas(root, width=800, height=300, bg="white')
canvas.pack()

root.bind("<Button-1>", drawRect)
root.bind("<Button-3>", drawCircle)
root.mainloop()
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from tkinter import *

mode = "pen"”
old_x = None
old_y = None

mycolor = "black"

def paint(event): #0|& 0 &S & AOIE ez HE

global mode, old_x, old y

fill_color = mycolor

if old xand old_y:

canvas.create_line(old_x, old_y, event.x, event.y,
capstyle=ROUND, width=10, fill=fill _color)

old_x = event.x

old_y = event.y

rol

Ct.

def reset(event): # AISXII0IRA HEWM =2 HIH 0|& 2 AHNIS
global old_x, old_y
old_x, old_y = None, None

root = Tk()
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canvas = Canvas(root, bg='white', width=600, height=400)
canvas.grid(row=1, columnspan=5)
canvas.bind('<B1-Motion>', paint)
canvas.bind('<ButtonRelease-1>', reset)

root.mainloop()
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from tkinter import *

def callback():

root = Tk()
menubar = Menu(root)

filemenu = Menu(menubar, tearoff=0)

filemenu.add_command(label="New", command=callback)
filemenu.add_command(label="Open", command=callback)
filemenu.add_separator()
filemenu.add_command(label="EXxit", command=root.quit)

menubar.add_cascade(label="File", menu=filemenu)

root.config(menu=menubar)
root.mainloop()
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from tkinter import *
from tkinter import filedialog

def FileOpen():
filename = filedialog.askopenfilename(parent=root,
filetypes=(("JPG files", "*.jpg"),
(lla” filesll’ "*.*")))
print(filename)

root = Tk()

menubar = Menu(root)

filemenu = Menu(menubar, tearoff=0)
filemenu.add_command(label="New")
filemenu.add_command(label="Open", command=FileOpen)
filemenu.add_separator()
filemenu.add_command(label="Exit", command=root.quit)
menubar.add_cascade(label="File", menu=filemenu)

root.config(menu=menubar)
root.mainloop()
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from tkinter import *
from tkinter import filedialog

def FileOpen():
global img
filename = filedialog.askopenfilename(parent=root,
filetypes=(("PNG files", "*.png"),
("all files", "*.*")))
img = Photolmage(file=filename)
canvas.create_image(20, 20, anchor=NW, image=imgQ)

root = Tk()

canvas = Canvas(root, width=500, height=150)

canvas.pack()

img = None # 0l0IX] AN S Jt=9|l= B0t D2 HEEO U Ok
Ct.

o
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menubar = Menu(root)

filemenu = Menu(menubar, tearoff=0)
filemenu.add_command(label="New")
filemenu.add_command(label="Open", command=FileOpen)
filemenu.add_separator()
filemenu.add_command(label="Exit", command=root.quit)
menubar.add_cascade(label="File", menu=filemenu)

root.config(menu=menubar)
root.mainloop()
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